I[sing Model: Exercise sheet 10

Ezercise 1. Let A C Z9 be a finite set. Let A C A. Let f be an increasing function on (0)zen
Using the domain Markov property and the comparison between boundary conditions, prove that

At <Hk.

Exercise 2. Let n > 1. We say that the box 0 is connected to A,, for the configuration o if there
exists a path of vertices with + spin from 0 to dA,,. We denote this event {0 <+ 9A,,}. Prove that

(00[0 ¢ aAn>;|\—ﬂ <0.

Ezercise 3. Let 8> 0. Let w € {—1,1}{%1 For o € {—1,1}{%1} we define
Hw(O') = —ﬂJoO’l - 10&0’0&)0 - 1050’10.)1.
Give all the boundary conditions w such that we have

(0001)“ = (00)”(01)*.



